05765-01 K FERNRERH | P KB A 3 EHF

7= miiEA

M
e N

g -
MEEE
HETHN
[ EE =2

BR:
05765-01-022000, 05765-01-033200 F1 05765-01-045000 M FEHHE
—NETBREREH

M4 -
05240
05241
05260
05885-01
05887-01
05888
05280
05891-01

~ /
05765-01-010500 = / / 05765-01-  05765-01-

05765-01-110500 - - ' 022000 122000
gy / by
'~ \mm!

B2

e

056765-01-133200

© norelem www.norelem.com



05765-01 K FERNRERH | P KB A 3 EHF

05765-01-010500

05765-01-022000 M 85° 73° 100 1000 2000 600 1200
05765-01-033200 EED 90° 65° 150 2000 3200 800 1600
05765-01-045000 R 90° 68° 250 2200 5000 1100 3000
05765-01-110500 M 90° 75° 50 250 500 150 350
05765-01-122000 THEN 85° 73° 100 1000 2000 600 1200
05765-01-133200 M 90° 65° 150 2000 3200 800 1600
05765-01-145000 M 90° 68° 250 2200 5000 1100 3000

05765-01-010500 el 159|238 11,1159 (238 8 5 15| 77 | 68 (44173 79 20,7 | 13,5 | M4x20

05765-01-022000 Ml 27 37 | 254 | 22 36 | 11474 2 |251|12,7|55|37,8| 1435 | 56,9 | 357 | Mox44
05765-01-033200 Ml 254 | 38 [20,8 (222 | 35 | 14,787 3 |349[12,7|6,7|476| 173 71,6 | 39,1 M8x63
05765-01-045000 Ml 41,3 | 571 - |413|572) 19 |11 4 444 | 19 |83|634 | 2956 | 108,3 | 63,6 | M10x85
05765-01-110500 THM 159238 11,1]159|238| 8 5 15| 77 |69 (44173 79 20,7 | 13,6 | M4x20
05765-01-122000 TEW 27 37 | 254 | 22 36 | 114 |74 2 251|127 |55|378| 143,56 | 56,9 | 357 | M6x40
05765-01-133200 THM 254 | 38 | 20,8222 | 35 | 14,7|87 3 |349|127|6,7|476| 173 71,6 | 39,1 M8x60
05765-01-145000 TEHEM 41,3571 - | 413|572 19 |11 4 444 | 19 |83|634 | 2956 | 108,3 | 63,6 | M10x80

© norelem www.norelem.com



